CORE

# Mathematical conditions for and physical meaning of a maximum of the determinant of $\widetilde{\mathbf{K}}_{T}$ in the prebuckling regime 

H.A. Mang ${ }^{\text {a,b,* }, ~ X . ~ J i a ~}{ }^{\text {a }}$<br>${ }^{\text {a }}$ Institute for Mechanics of Materials and Structures, Vienna University of Technology, Karlsplatz 13/202, 1040 Vienna, Austria<br>${ }^{\mathrm{b}}$ Tongji University, Siping Road 1239, Shanghai, China

## A R T I C L E I N F O

## Article history:

Available online 20 May 2013
Dedicated to Professor Zdeněk Bittnar on the occasion of his 70th birthday.

## Keywords:

Buckling
Consistently linearized eigenproblem
Maximum of determinant
Percentage bending energy
Pressure vessel
Tangent stiffness matrix


#### Abstract

It is shown that the determinant of the tangent stiffness matrix has a maximum in the prebuckling regime if and only if the determinant of a specific linear combination of the first and the third derivative of this matrix with respect to a dimensionless load factor vanishes. The mathematical tool for this proof is the so-called consistently linearized eigenproblem in the frame of the Finite Element Method. The physical meaning of the mentioned maximum is the one of a minimum of the percentage bending energy of the total strain energy. The paper provides mathematical and physical background knowledge on numerical results that were obtained 35 years ago.


© 2013 The Authors. Published by Elsevier Ltd. Open access under CC BY-NC-ND license.

## 1. Introduction

The vanishing of the determinant of the tangent stiffness matrix $\widetilde{\boldsymbol{K}}_{T}$, i.e.
$\operatorname{Det} \widetilde{\mathbf{K}}_{T}=0$,
is an indispensable ingredient of academic teaching of computational structural stability with emphasis on the Finite Element Method (FEM). Eq. (1) represents a necessary and sufficient condition for loss of static stability of structures subjected to conservative loading $\lambda \boldsymbol{P}$, where $\boldsymbol{P}$ denotes the vector of node forces, in the context of the FEM, that are work-equivalent to the actual loading, and $\lambda$ is a dimensionless load factor. In general, $\widetilde{\mathbf{K}}_{T}$ depends on the vector of node displacements $\boldsymbol{q}(\lambda)$, i.e.
$\widetilde{\boldsymbol{K}}_{T}:=\widetilde{\mathbf{K}}_{T}(\boldsymbol{q}(\lambda))$.
The tilde in $\widetilde{\mathbf{K}}_{T}$ serves the purpose of distinguishing the tangent stiffness matrix from tensor functions $\boldsymbol{K}_{T}$ which refer to internal forces that are not in equilibrium with the external forces [1].

[^0]In contrast to Eq. (1), the exact physical meaning of
$\frac{d}{d \lambda}\left(\operatorname{Det}\left(\widetilde{\boldsymbol{K}}_{T}\right)\right)=0, \quad \frac{d^{2}}{d \lambda^{2}}\left(\operatorname{Det}\left(\widetilde{\boldsymbol{K}}_{T}\right)\right)<0$,
in the prebuckling regime seems to be unknown. This would explain why mathematical conditions, alternative to (3), analogous to the alternative condition
$\widetilde{\boldsymbol{K}}_{T} \cdot \boldsymbol{v}=\mathbf{0}$
to (1), where $\boldsymbol{v}$ is the eigenvector of $\widetilde{\boldsymbol{K}}_{T}$, could not be found in the literature.

The mathematical definition of
$\frac{d}{d \lambda}(\operatorname{Det} \boldsymbol{A})$,
where each element of $\operatorname{Det} \boldsymbol{A}$ which is of order $n$ is a differentiable function of $\lambda$, reads as follows [2]: The derivative of Det $\boldsymbol{A}$ with respect to $\lambda$ is equal to the sum of $n$ derivatives, the $i$ th one of which is identical with DetA except for the $i$ th row, which consists of the derivatives of the elements of the $i$ th row of DetA. This definition is not very helpful, because normally the elements of $\operatorname{Det} \boldsymbol{A}$ are numerical quantities that are obtained in the frame of incremen-tal-iterative nonlinear Finite Element Analysis (FEA).

The objective of this work is to derive mathematical conditions for (3) and to explain the physical meaning of a maximum of $\operatorname{Det} \widetilde{\mathbf{K}}_{T}$ in the prebuckling regime. The tool for this derivation is the socalled consistently linearized eigenproblem (CLE) [3].

In Section 2, a brief summary of the CLE will be given. In Section 3, the aforementioned conditions will be derived, and in Section 4 the physical meaning of these conditions will be explained. Section 5 is devoted to a numerical example. Conclusions drawn from this work will be given in Section 6 .

## 2. Consistently linearized eigenproblem

The formulation of the CLE for the first eigenpair $\left(\lambda_{1}^{*}(\lambda)-\lambda, \boldsymbol{v}_{1}^{*}(\lambda)\right)$ reads as follows [3]:
$\boldsymbol{A}_{1}(\lambda) \cdot \boldsymbol{v}_{1}^{*}(\lambda)=\mathbf{0}, \quad \boldsymbol{A}_{1}:=\widetilde{\boldsymbol{K}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \dot{\widetilde{\boldsymbol{K}}}_{T}, \quad\left|\boldsymbol{v}_{1}^{*}\right|=1$,
where $\dot{\widetilde{\boldsymbol{K}}}_{T}$ is the first derivative of $\widetilde{\boldsymbol{K}}_{T}$ with respect to $\lambda$ along a direction parallel to the primary path, i.e.
$\dot{\tilde{\boldsymbol{K}}}_{T}=\frac{d}{d \lambda} \widetilde{\boldsymbol{K}}_{T}(\boldsymbol{q}(\lambda)):=\left.\frac{d}{d \alpha}\right|_{\alpha=0} \widetilde{\boldsymbol{K}}_{T}(\boldsymbol{q}(\lambda)+\alpha \dot{\boldsymbol{q}}(\lambda))$.
In contrast to the matrix $\widetilde{\mathbf{K}}_{T}$, which is positive definite in the prebuckling regime, $\widetilde{\mathbf{K}}_{T}$ is an indefinite matrix. Apart from one special case [4], $\boldsymbol{v}_{1}^{*}(\lambda)$ does not become an eigenvector of $\widetilde{\boldsymbol{K}}_{T}$ in the prebuckling regime. Hence, the eigenvalue $\lambda_{1}^{*}-\lambda$ remains finite. Fig. 1 illustrates a typical function $\lambda_{1}^{*}(\lambda)$ for bifurcation buckling from a nonlinear load-displacement path. At the starting point $A$, $\lambda=0$. At the stability limit $S$ :
$\lambda_{1}^{*}-\lambda_{S}=0 \Rightarrow \lambda_{1}^{*}=\lambda=\lambda_{S}, \quad \dot{\lambda}_{1}^{*}=0$,
[3] and
$\boldsymbol{v}_{1}^{*}(\lambda):=\boldsymbol{v}_{1}$.
(For snap-through, $\lambda$ is a nonmonotonic function of the displacements. This suggests replacing $\lambda$ by a suitable parameter $\xi$.)

In order to derive the mathematical conditions for a maximum of $\operatorname{Det} \widetilde{\mathbf{K}}_{T}$, the first three derivatives of (6.1) with respect to $\lambda$ are needed. They are obtained as follows [4]:
$\dot{\boldsymbol{A}}_{1} \cdot \boldsymbol{v}_{1}^{*}+\boldsymbol{A}_{1} \cdot \dot{\boldsymbol{v}}_{1}^{*}=\mathbf{0}$,
$\ddot{\boldsymbol{A}}_{1} \cdot \boldsymbol{v}_{1}^{*}+2 \dot{\boldsymbol{A}}_{1} \cdot \dot{\boldsymbol{v}}_{1}^{*}+\boldsymbol{A}_{1} \cdot \ddot{\boldsymbol{v}}_{1}^{*}=\mathbf{0}$,
$\dddot{\boldsymbol{A}}_{1} \cdot \boldsymbol{v}_{1}^{*}+3 \ddot{\boldsymbol{A}}_{1} \cdot \dot{\boldsymbol{v}}_{1}^{*}+3 \dot{\boldsymbol{A}}_{1} \cdot \ddot{\boldsymbol{v}}_{1}^{*}+\boldsymbol{A}_{1} \cdot \ddot{\boldsymbol{v}}_{1}^{*}=\mathbf{0}$,
where
$\dot{\boldsymbol{A}}_{1}=\dot{\lambda}_{1}^{*} \dot{\widetilde{\boldsymbol{K}}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \ddot{\widetilde{\boldsymbol{K}}}_{T}$,
$\ddot{\boldsymbol{A}}_{1}=\ddot{\lambda}_{1}^{*} \dot{\widetilde{\boldsymbol{K}}}_{T}+\left(2 \dot{\lambda}_{1}^{*}-1\right) \ddot{\tilde{K}}_{T}+\left(\lambda_{1}^{*}-\lambda\right), \ddot{\boldsymbol{K}}_{T}$,


Fig. 1. $\lambda_{1}^{*}$ versus $\lambda$, with $\lambda_{1}^{*}(\lambda)-\lambda$ as a typical eigenvalue function for bifurcation buckling [4].

$$
\begin{equation*}
\ddot{\boldsymbol{A}}_{1}=\ddot{\lambda}_{1}^{*} \dot{\tilde{\mathbf{K}}}_{T}+3 \ddot{\lambda}_{1}^{*} \ddot{\tilde{\boldsymbol{K}}}_{T}+\left(3 \dot{\lambda}_{1}^{*}-2\right) \ddot{\boldsymbol{K}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \ddot{\boldsymbol{K}}_{T} \tag{15}
\end{equation*}
$$

and
$\dot{\boldsymbol{v}}_{1}^{*}=\sum_{j=2}^{N} c_{1 j} \boldsymbol{v}_{j}^{*} \quad$ with $\quad c_{1 j}=-\frac{\lambda_{1}^{*}-\lambda}{\lambda_{1}^{*}-\lambda_{j}^{*}} \frac{\boldsymbol{v}_{j}^{*} \cdot \ddot{\tilde{\boldsymbol{K}}}_{T} \cdot \boldsymbol{v}_{1}^{*}}{\boldsymbol{v}_{j}^{*} \cdot \dot{\widetilde{K}}_{T} \cdot \boldsymbol{v}_{j}^{*}}$,
$\ddot{\boldsymbol{v}}_{1}^{*}=\sum_{j=2}^{N}\left(\dot{c}_{1 j} \boldsymbol{v}_{j}^{*}+c_{1 j} \dot{\boldsymbol{v}}_{j}^{*}\right)$,
$\dddot{\boldsymbol{v}}_{1}^{*}=\sum_{j=2}^{N}\left(\ddot{c}_{1 j} \boldsymbol{v}_{j}^{*}+2 \dot{c}_{1 j} \boldsymbol{v}_{j}^{*}+c_{1 j} \ddot{\boldsymbol{v}}_{j}^{*}\right)$,
where $\lambda_{1}^{*}-\lambda_{j}^{*}$ represents the difference of the first and the $j$ th eigenvalue and $\boldsymbol{v}_{j}^{*}$ denotes the $j$ th eigenvector. Following from normalization of $\boldsymbol{\nu}_{1}^{*}$ according to (6.3):
$\boldsymbol{v}_{1}^{*} \cdot \boldsymbol{\nu}_{1}^{*}=0$,
$\dot{\boldsymbol{v}}_{1}^{*} \cdot \dot{\boldsymbol{v}}_{1}^{*}+\boldsymbol{v}_{1}^{*} \cdot \ddot{\boldsymbol{v}}_{1}^{*}=0$,
$3 \dot{\boldsymbol{v}}_{1}^{*} \cdot \ddot{\boldsymbol{v}}_{1}^{*}+\boldsymbol{v}_{1}^{*} \cdot \ddot{\boldsymbol{v}}_{1}^{*}=0$.
Substitution of (8.1) into (16.2) and insertion of the result into (16.1) gives

$$
\begin{equation*}
\dot{\boldsymbol{v}}_{1}^{*}\left(\lambda_{s}\right)=\mathbf{0} . \tag{22}
\end{equation*}
$$

## 3. Derivation of mathematical conditions for a maximum of Det $\widetilde{K}_{T}$

Premultiplication of (11) by $\boldsymbol{\nu}_{1}^{*}$ and use of (6.1) gives
$\boldsymbol{v}_{1}^{*} \cdot \ddot{\boldsymbol{A}}_{1} \cdot \boldsymbol{v}_{1}^{*}+2 \boldsymbol{\nu}_{1}^{*} \cdot \dot{\boldsymbol{A}}_{1} \cdot \dot{\boldsymbol{v}}_{1}^{*}=0$.
Substitution of (13) and (14) into (23) yields

$$
\begin{align*}
& \boldsymbol{v}_{1}^{*} \cdot\left(\ddot{\lambda}_{1}^{*} \dot{\tilde{\boldsymbol{K}}}_{T}+\left(2 \dot{\dot{i}}_{1}^{*}-1\right) \ddot{\tilde{\boldsymbol{K}}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \ddot{\boldsymbol{K}}_{T}\right) \cdot \boldsymbol{v}_{1}^{*}+2 \boldsymbol{v}_{1}^{*} \\
& \quad \cdot\left(\dot{\lambda}_{1}^{*} \dot{\tilde{\boldsymbol{K}}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \ddot{\tilde{\boldsymbol{K}}}_{T}\right) \cdot \dot{\boldsymbol{v}}_{1}^{*} \\
& \quad=0 . \tag{24}
\end{align*}
$$

Substitution of (16) into the bilinear form $\boldsymbol{v}_{1}^{*} \cdot \dot{\tilde{\boldsymbol{K}}}_{T} \cdot \dot{\boldsymbol{v}}_{1}^{*}$ in (24), consideration of the orthogonality relations
$\boldsymbol{v}_{j}^{*} \cdot \dot{\tilde{\boldsymbol{K}}}_{T} \cdot \boldsymbol{v}_{1}^{*}=0, \quad j=2,3, \ldots, N$,
following from (6.1), and use of $\boldsymbol{v}_{1}^{*} \cdot \dot{\boldsymbol{A}}_{1} \cdot \boldsymbol{v}_{1}^{*}=0$, following from premultiplication of (10) by $\boldsymbol{v}_{1}^{*}$ and consideration of (6.1), gives

$$
\begin{align*}
& \frac{\ddot{\lambda}_{1}^{*}\left(\lambda_{1}^{*}-\lambda\right)-\dot{\lambda}_{1}^{*}\left(\dot{\lambda}_{1}^{*}-1\right)}{\left(\lambda_{1}^{*}-\lambda\right)^{2}}=-\frac{1}{\boldsymbol{v}_{1}^{*} \cdot \dot{\tilde{\boldsymbol{K}}}_{T} \cdot \boldsymbol{v}_{1}^{*}} \\
& \left(2 \boldsymbol{v}_{1}^{*} \cdot \ddot{\tilde{\boldsymbol{K}}}_{T} \cdot \dot{\boldsymbol{v}}_{1}^{*}+\frac{\left(\boldsymbol{v}_{1}^{*} \cdot \ddot{\boldsymbol{K}}_{T} \cdot \boldsymbol{v}_{1}^{*}\right)\left(\boldsymbol{v}_{1}^{*} \cdot \dot{\tilde{\boldsymbol{K}}}_{T} \cdot \boldsymbol{v}_{1}^{*}\right)-\left(\boldsymbol{v}_{1}^{*} \cdot \ddot{\boldsymbol{K}}_{T} \cdot \boldsymbol{v}_{1}^{*}\right)^{2}}{\boldsymbol{v}_{1}^{*} \cdot \dot{\tilde{\boldsymbol{K}}}_{T} \cdot \boldsymbol{v}_{1}^{*}}\right) \tag{26}
\end{align*}
$$

Substitution of (8) into
$\frac{d}{d \lambda}\left(\frac{\dot{\lambda}_{1}^{*}}{\lambda_{1}^{*}-\lambda}\right)=\frac{\ddot{\lambda}_{1}^{*}\left(\lambda_{1}^{*}-\lambda\right)-\dot{\lambda}_{1}^{*}\left(\dot{\lambda}_{1}^{*}-1\right)}{\left(\lambda_{1}^{*}-\lambda\right)^{2}}$,
and
$\frac{d^{2}}{d \lambda^{2}}\left(\frac{\dot{\lambda}_{1}^{*}}{\lambda_{1}^{*}-\lambda}\right)$
$=\frac{\left(\ddot{\lambda}_{1}^{*}\left(\lambda_{1}^{*}-\lambda\right)-\dot{\lambda}_{1}^{*} \ddot{\lambda}_{1}^{*}\right)\left(\lambda_{1}^{*}-\lambda\right)^{2}-2\left(\ddot{\lambda}_{1}^{*}\left(\lambda_{1}^{*}-\lambda\right)-\dot{\lambda}_{1}^{*}\left(\dot{\lambda}_{1}^{*}-1\right)\right)\left(\lambda_{1}^{*}-\lambda\right)\left(\dot{\lambda}_{1}^{*}-1\right)}{\left(\lambda_{1}^{*}-\lambda\right)^{4}}$,
and use of de l'Hopital's rule yields
$\left.\frac{d}{d \lambda}\left(\frac{\dot{\lambda}_{1}^{*}}{\lambda_{1}^{*}-\lambda}\right)\right|_{\lambda=\lambda_{S}}=-\frac{1}{2}\left(\ddot{\lambda}_{1}^{* 2}+\ddot{\lambda}_{1}^{*}\right)$,
and
$\left.\frac{d^{2}}{d \lambda^{2}}\left(\frac{\dot{\lambda}_{1}^{*}}{\lambda_{1}^{*}-\lambda}\right)\right|_{\lambda=\lambda_{s}}=-\frac{1}{6}\left(15 \ddot{\lambda}_{1}^{*} \ddot{\lambda}_{1}^{*}+2 \ddot{\lambda}_{1}^{*}\right)$,
respectively. For a general stress state, resulting from a combination of membrane and non-membrane action, in addition to (8):
$\left.\frac{d^{2}}{d \lambda^{2}}\left(\frac{\dot{\lambda}_{1}^{*}}{\lambda_{1}^{*}-\lambda}\right)\right|_{\lambda=\lambda S}=0$,
indicating a point of inflection of the function $\lambda_{1}^{*} /\left(\lambda_{1}^{*}-\lambda\right)$ at $\lambda=\lambda_{S}$ (see the situation at point $S$ in Fig. 2b). Substitution of (31) into (30) gives
$15 \ddot{\lambda}_{1}^{*} \ddot{\lambda}_{1}^{*}+2 \dddot{\lambda}_{1}^{*}=0$.
For the limiting case of buckling from a state of pure bending (lateral torsional buckling):
$\dddot{\lambda}_{1}^{*}=\dddot{\lambda}_{1}^{*}=0$.
For the limiting case of buckling from a membrane stress state, in addition to (31):
$\left.\frac{d}{d \lambda}\left(\frac{\dot{\lambda}_{1}^{*}}{\lambda_{1}^{*}-\lambda}\right)\right|_{\lambda=\lambda_{s}}=0$,
indicating a saddle point of the function $\lambda_{1}^{*} /\left(\lambda_{1}^{*}-\lambda\right)$ at $\lambda=\lambda_{s}$. Substitution of (34) into (29) gives
$\ddot{\lambda}_{1}^{* 2}+\dddot{\lambda}_{1}^{*}=0$.
Substitution of (35) into (32) yields
$-15 \ddot{\lambda}_{1}^{* 3}+2 \ddot{\lambda}_{1}^{*}=0$,
For a maximum of $\operatorname{Det} \widetilde{\mathbf{K}}_{T}$ in the prebuckling regime:

(a)
$\left.\frac{d}{d \lambda}\left(\frac{\dot{\lambda}_{1}^{*}}{\lambda_{1}^{*}-\lambda}\right)\right|_{\lambda=\lambda_{R}}=0,\left.\quad \frac{d^{2}}{d \lambda^{2}}\left(\frac{\dot{\lambda}_{1}^{*}}{\lambda_{1}^{*}-\lambda}\right)\right|_{\lambda=\lambda_{R}}<0$,
indicating a maximum of the function $\dot{\lambda}_{1}^{*} /\left(\lambda_{1}^{*}-\lambda\right)$ at $\lambda=\lambda_{R}$ (see the situation at point $R$ in Fig. 2b). The rationale of this assertion becomes evident from substitution of (37.1) into (27), resulting in
$\ddot{\lambda}_{1}^{*}\left(\lambda_{1}^{*}-\lambda\right)-\dot{\lambda}_{1}^{*}\left(\dot{\lambda}_{1}^{*}-1\right)=0$.
This relation indicates a disintegration of (26), analogous to the disintegration of (26) at the stability limit, albeit one of a different kind. As will be shown later:
$\left.\dot{\lambda}_{1}^{*}\right|_{\lambda=\lambda_{R}}=\frac{1}{2}$,
(see the situation at point $R$ in Fig. 2a).
Representing part of the solution of the CLE, the eigenvalue $\lambda_{1}^{*}-\lambda$ is known for all values of $\lambda$ in the prebuckling regime. In order to determine the two unknown quantities $\dot{\lambda}_{1}^{*}$ and $\ddot{\lambda}_{1}^{*}$, at $\lambda=\lambda_{R}$, in (38), an additional condition is needed. As part of a disintegration of (12), this condition is obtained as
$\ddot{\boldsymbol{A}}_{1} \cdot \dot{\boldsymbol{v}}_{1}^{*}=\mathbf{0}$.
In this context, it is worthy of note that (12) also disintegrates at the stability limit, albeit differently from the disintegration at point $R$.

Substitution of (14) into (40) gives
$\left[\ddot{\lambda}_{1}^{*} \dot{\boldsymbol{K}}_{T}+\left(2 \dot{\lambda}_{1}^{*}-1\right) \ddot{\tilde{\boldsymbol{K}}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \ddot{\boldsymbol{K}}_{T}\right] \cdot \dot{\boldsymbol{v}}_{1}^{*}=\mathbf{0}$.
Elimination of $\ddot{\partial}_{1}^{*}$ in (41) by means of (38) yields
$\left[\frac{\dot{\lambda}_{1}^{*}\left(\dot{\lambda}_{1}^{*}-1\right)}{\lambda_{1}^{*}-\lambda} \dot{\widetilde{\boldsymbol{K}}}_{T}+\left(2 \dot{\lambda}_{1}^{*}-1\right) \ddot{\tilde{\boldsymbol{K}}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \ddot{\boldsymbol{K}}_{T}\right] \cdot \dot{\boldsymbol{v}}_{1}^{*}=\mathbf{0}$.
Substitution of (16) into (42) and premultiplication by $\boldsymbol{\nu}_{1}^{*}$ results in

$$
\begin{align*}
& \boldsymbol{v}_{1}^{*} \cdot\left[\frac{\dot{\lambda}_{1}^{*}\left(\dot{\lambda}_{1}^{*}-1\right)}{\lambda_{1}^{*}-\lambda} \dot{\tilde{\boldsymbol{K}}}_{T}+\left(2 \dot{\lambda}_{1}^{*}-1\right) \ddot{\tilde{\boldsymbol{K}}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \ddot{\boldsymbol{K}}_{T}\right]  \tag{34}\\
& \cdot\left(\sum_{j=2}^{N} c_{1 j} \boldsymbol{v}_{j}^{*}\right)  \tag{35}\\
& \quad=0 \tag{43}
\end{align*}
$$

Consideration of the orthogonality condition (25) in (43) gives

$$
\begin{equation*}
\boldsymbol{v}_{1}^{*} \cdot\left[\left(2 \dot{\lambda}_{1}^{*}-1\right) \ddot{\tilde{\boldsymbol{K}}}_{T}+\left(\lambda_{1}^{*}-\lambda\right) \ddot{\boldsymbol{K}}_{T}\right] \cdot\left(\sum_{j=2}^{N} c_{1 j} \boldsymbol{v}_{j}^{*}\right)=0 \tag{36}
\end{equation*}
$$


(b)
 corresponding to (a).

Substitution of (38) into (26) yields
$2 \boldsymbol{v}_{1}^{*} \cdot \ddot{\tilde{\boldsymbol{K}}}_{T} \cdot \dot{\boldsymbol{v}}_{1}^{*}$
$+\frac{\left(\boldsymbol{v}_{1}^{*} \cdot \ddot{\tilde{K}}_{T} \cdot \boldsymbol{v}_{1}^{*}\right)\left(\boldsymbol{v}_{1}^{*} \cdot \dot{\tilde{\mathbf{K}}}_{T} \cdot \boldsymbol{v}_{1}^{*}\right)-\left(\boldsymbol{v}_{1}^{*} \cdot \ddot{\tilde{\boldsymbol{K}}}_{T} \cdot \boldsymbol{v}_{1}^{*}\right)^{2}}{\boldsymbol{v}_{1}^{*} \cdot \dot{\tilde{K}}_{T} \cdot \boldsymbol{v}_{1}^{*}}$
$=0$.
Hence:
$\boldsymbol{v}_{1}^{*} \cdot \ddot{\tilde{K}}_{T} \cdot \boldsymbol{v}_{j}^{*} \neq 0, \quad j=2,3, \ldots, N$.
Consequently, satisfaction of (44) requires that
$2 \dot{\lambda}_{1}^{*}-1=0$,
which confirms (39), and that
$\boldsymbol{v}_{1}^{*} \cdot \ddot{\boldsymbol{K}}_{T} \cdot \boldsymbol{v}_{j}^{*}=0, \quad j=2,3, \ldots, N$.
Substitution of (47) into (42) gives
$\left[\dot{\tilde{\boldsymbol{K}}}_{T}-4\left(\lambda_{1}^{*}-\lambda\right)^{2} \ddot{\boldsymbol{K}}_{T}\right] \cdot \dot{\boldsymbol{v}}_{1}^{*}=\mathbf{0}$,
which shows that the sign of the eigenvalue $\lambda_{1}^{*}-\lambda$ has no influence on this relation. Thus:
$\operatorname{Det}\left[\dot{\tilde{\boldsymbol{K}}}_{T}-4\left(\lambda_{1}^{*}-\lambda\right)^{2} \ddot{\widetilde{\boldsymbol{K}}}_{T}\right]=\mathbf{0}$,
which is a necessary and sufficient condition for a maximum of $\operatorname{Det} \widetilde{\mathbf{K}}_{T}$ in the prebuckling regime.

## 4. Physical interpretation of a maximum of $\operatorname{Det} \widetilde{K}_{T}$

For the special case of a linear stability problem:
$\ddot{\tilde{\boldsymbol{K}}}_{T}=\mathbf{0} \quad \forall \lambda$,
which implies that
$\widetilde{\boldsymbol{K}}_{T}(\lambda)=\boldsymbol{K}_{0}+\lambda \overline{\boldsymbol{K}}_{\sigma}$
where $\boldsymbol{K}_{0}$ is the constant small-displacement stiffness matrix and $\boldsymbol{K}_{\sigma}$ is the constant initial stress matrix, evaluated after the first step of incremental FEA [5]. Substitution of (52) into (6) gives
$\left(\boldsymbol{K}_{0}+\lambda_{1}^{*} \overline{\boldsymbol{K}}_{\sigma}\right) \cdot \boldsymbol{v}_{1}^{*}=\mathbf{0}$,
resulting in
$\lambda_{1}^{*}=\lambda_{s}, \quad \boldsymbol{v}_{1}^{*}=\boldsymbol{v}_{1} \forall \lambda$.
Hence:
$\dot{\lambda}_{1}^{*}=0, \quad \dot{\boldsymbol{v}}_{1}^{*}=\mathbf{0} \forall \lambda$.
This permits interpretation of $\dot{\lambda}_{1}^{*} /\left(\lambda_{1}^{*}-\lambda\right)$ (see Fig. 2b) as the increase of the aggregate nonlinearity of the underlying stability problem, normalized with respect to the eigenvalue. Consequently, point $R$ in Fig. 2b indicates a maximum of such an increase.

Linear stability problems are a special case of buckling from a membrane stress state [4]. To obtain a mathematical condition for buckling from such a stress state, (11) is premultiplied by $\ddot{\boldsymbol{v}}_{1}^{*}$ :
$\ddot{\boldsymbol{v}}_{1}^{*} \cdot\left(\ddot{\boldsymbol{A}}_{1} \cdot \boldsymbol{v}_{1}^{*}+2 \dot{\boldsymbol{A}}_{1} \cdot \dot{\boldsymbol{v}}_{1}^{*}+\boldsymbol{A}_{1} \cdot \ddot{\boldsymbol{v}}_{1}^{*}\right)=0$.
For buckling from a membrane stress state, (56) disintegrates into
$\ddot{\boldsymbol{v}}_{1}^{*} \cdot \ddot{\boldsymbol{A}}_{1} \cdot \boldsymbol{v}_{1}^{*}=0 \quad$ and $\quad \ddot{\boldsymbol{v}}_{1}^{*} \cdot\left(2 \dot{\boldsymbol{A}}_{1} \cdot \dot{\boldsymbol{v}}_{1}^{*}+\boldsymbol{A}_{1} \cdot \ddot{\boldsymbol{v}}_{1}^{*}\right)=0$.
Eq. (57.1) indicates that $\boldsymbol{v}_{1}^{*}$ is orthogonal to $\ddot{\boldsymbol{A}}_{1} \cdot \ddot{\boldsymbol{v}}_{1}^{*}$ for all values of $\lambda$ in the prebuckling regime. Disintegration of (56) into (57) does not
imply disintegration of (11), as was originally assumed [6]. Comparing (57) with (40) reveals that buckling from a membrane stress state precludes the possibility of a maximum of $\operatorname{Det} \widetilde{\mathbf{K}}_{T}$ in the prebuckling regime.

Buckling from a state of pure bending (lateral torsional buckling) is characterized by [4]
$\boldsymbol{v}_{1}^{*}=\boldsymbol{v}_{1} \quad \forall \lambda$.
Hence:
$\dot{\boldsymbol{v}}_{1}^{*}=\mathbf{0} \quad \forall \lambda$.
Substitution of (59) into (10) and consideration of (58) yields
$\dot{\boldsymbol{A}}_{1} \cdot \boldsymbol{v}_{1}=\mathbf{0}$.
Comparing (60) with (40) shows that also buckling from a state of pure bending precludes the possibility of a maximum of $\operatorname{Det} \widetilde{\mathbf{K}}_{T}$ in the prebuckling regime.

Consequently, such a maximum is only possible for buckling from a general stress state, characterized by
$0<\frac{U_{B}}{U_{M}+U_{B}}<1 \quad \forall \lambda$,
where $U_{M}$ denotes the membrane energy and $U_{B}$ stands for the complement of $U_{M}$ to the total strain energy. For convenience's sake, $U_{B}$ is termed as the bending energy. Recalling that a maximum of $\operatorname{Det} \widetilde{\mathbf{K}}_{T}$ in the prebuckling regime correlates with a maximum of the function $\dot{\lambda}_{1}^{*} /\left(\lambda_{1}^{*}-\lambda\right)$, i.e. with a maximum increase of the aggregate normalized nonlinearity of the underlying stability problem, such a maximum must correspond to a minimum percentage bending energy of the total strain energy, characterized by
$\frac{d}{d \lambda}\left(\frac{U_{B}}{U_{M}+U_{B}}\right)=0 \Rightarrow \dot{U}_{B} U_{M}-U_{B} \dot{U}_{M}=0$,
and
$\frac{d^{2}}{d \lambda^{2}}\left(\frac{U_{B}}{U_{M}+U_{B}}\right)>0 \Rightarrow \frac{\ddot{U_{B} U_{M}-U_{B} \ddot{U}_{M}}}{\left(U_{M}+U_{B}\right)^{2}}>0$,
(It is worthy of note that a maximum of $U_{B} /\left(U_{M}+U_{B}\right)$ occurs at the stability limit [4].) As follows from (62.2), for $\lambda=\lambda_{R}$ :
$\frac{\dot{U}_{B}}{\dot{U}_{M}}=\frac{d U_{B}}{d U_{M}}=\frac{U_{B}}{U_{M}}$.
Substitution of (64) into (63) gives
$\frac{d^{2}}{d \lambda^{2}}\left(\frac{U_{B}}{U_{M}+U_{B}}\right)=\frac{\left(\ddot{U}_{B} \dot{U}_{M}-\dot{U}_{B} \ddot{U}_{M}\right)}{\left(U_{M}+U_{B}\right)^{2}} \frac{U_{M}}{\dot{U}_{M}}$.
Insertion of (65) into
$\frac{d^{2} U_{B}}{d U_{M}^{2}}=\frac{\ddot{U}_{B} \dot{U}_{M}-\dot{U}_{B} \ddot{U}_{M}}{\dot{U}_{M}^{3}}$
yields
$\frac{d^{2} U_{B}}{d U_{M}^{2}}=\frac{d^{2}}{d \lambda^{2}}\left(\frac{U_{B}}{U_{M}+U_{B}}\right) \frac{\left(U_{M}+U_{B}\right)^{2}}{U_{M} \dot{U}_{M}^{2}}$.
Fig. 3 elucidates the physical meaning of a maximum of $\operatorname{Det} \widetilde{\mathbf{K}}_{T}$ in the prebuckling regime. According to (64), the tangent to the curve $U_{B}\left(U_{M}\right)$ at point $R$ is equal to the chord. As follows from (63) and (67), the curvature of this curve at point $R$ is positive. Analogous to the situation at $R$, the tangent to the curve $U_{B}\left(U_{M}\right)$ at the stability limit $S$ is also equal to the chord. However, at $S$, in contrast to the situation at $R$ :
$\frac{d^{2} U_{B}}{d U_{M}^{2}}=\frac{d^{3} U_{B}}{d U_{M}^{3}}=0, \quad \frac{d^{4} U_{B}}{d U_{M}^{4}}<0$,


Fig. 3. $U_{B}$ versus $U_{M}$ for a situation characterized by a maximum of $\operatorname{Det} \widetilde{\boldsymbol{K}}_{T}$ at point $R$ in the prebuckling regime.


Fig. 4. Buckled test specimen of a pressure vessel head subjected to internal pressure [7].


Fig. 5. Geometrical details of a cylindrical pressure vessel with a torispherical head [8].
indicating a planar point of the curve $U_{B}\left(U_{M}\right)$ at the stability limit.

## 5. Numerical example

Following the failure of a large cylindrical fluid coker with a shallow spherical bottom head while undergoing its hydrostatic proof test at Avon, California, in 1956, interest in the problem of buckling of such pressure vessels under internal pressure was growing. Fig. 4 shows a buckled test specimen of a pressure vessel head that was subjected to internal pressure [7].

Fig. 5 illustrates geometrical details of a pressure vessel head that was investigated by means of the FEM 35 years ago by Kanodia, Gallagher, and the senior writer [8].

Fig. 6 shows the distribution of the circumferential membrane force $n_{\alpha}$ due to internal pressure in the meridional (axial) direction $\beta$ and $s / D$, respectively, where $s$ denotes the axial coordinate of the


Fig. 6. Circumferential membrane force $n_{\alpha}$ due to internal pressure $\bar{p}=703.8 \mathrm{kN} / \mathrm{m}^{2}$, in the meridional (axial) direction [8].


Fig. 7. Normalized determinant of a reduced form of the tangent stiffness matrix $\widetilde{\mathbf{K}}_{T}$ versus the load factor $\lambda$ [8].
cylinder and $D$ stands for its diameter. Fig. 7 shows a plot of the normalized determinant of a reduced form of the tangent stiffness matrix $\widetilde{\mathbf{K}}_{T}$, containing the small-displacement stiffness matrix $\boldsymbol{K}_{0}$ and the so-called first-order (linear) geometric stiffness matrix $\lambda \boldsymbol{N}_{1}$, versus the load factor $\lambda$. Normalization is performed with respect to $\operatorname{Det} \widetilde{\mathbf{K}}_{0}$. It is seen that the determinant increases up to a value of the internal pressure close to the buckling pressure, indicating the initial load-hardening nature of the behavior of the structure. The conjecture that the vanishing of the determinant of $\ddot{\tilde{\mathbf{K}}}_{T}$ is the condition for a maximum of the determinant of $\widetilde{\mathbf{K}}_{T}$ [9] is falsified by (50), according to which such a maximum occurs if the determinant of a specific linear combination of $\dot{\boldsymbol{K}}_{T}$ and $\widetilde{\boldsymbol{K}}_{T}$ vanishes.

## 6. Conclusions

1. The determinant of the tangent stiffness matrix has a maximum in the prebuckling regime if and only if the determinant of a specific linear combination of the first and the third derivative of the tangent stiffness matrix vanishes.
2. A necessary condition for a maximum of the determinant in the prebuckling regime is a general stress state, resulting from a combination of membrane and bending action.
3. The physical meaning of a maximum of the determinant of the tangent stiffness matrix in the prebuckling regime is the one of a minimum of the percentage bending energy of the total strain energy.
4. The present work is a good example of the lasting usefulness of mathematical and physical background knowledge about numerical results that were obtained long ago.

## Acknowledgements

The junior writer gratefully acknowledges financial support by the Austrian Science Fund under Project \#P24526-N26 (Categorization of Buckling by Means of Spherical Geometry).

## References

[1] Mang HA, Schranz C, Mackenzie-Helnwein P. Conversion from imperfectionsensitive into imperfection-insensitive elastic structures I: theory. Comput Meth Appl Mech Eng 2006;195(13-16):1422-57.
[2] Wylie Jr CR. Advanced engineering mathematics. third ed. New York: McGrawHill; 1966.
[3] Helnwein P. Zur initialen Abschaetzbarkeit von Stabilitaetsgrenzen auf nichtlinearen Last-Verschiebungspfaden elastischer Strukturen mittels der Methode der Finite Elemente [in German; On ab initio assessability of stability limits on nonlinear load-displacement paths of elastic structures by
means of the finite element method]. PhD thesis. Vienna University of Technology; 1997.
[4] Mang HA, Jia X. The buckling sphere - a new concept for classification of loss of stability. In: Proceedings (on CD-ROM) of the international congress on computational mechanics and simulation(ICCMS 2012), Hyderabad, India; 2012. p. 10.
[5] Zienkiewicz OC, Taylor RL. The finite element method. solid mechanics, vol. 2. Oxford (England): Butterworth-Heinemann; 2000.
[6] Mang HA, Jia X, Hoefinger G. Finite element analysis of buckling of structures at special prebuckling states. J Theor Appl Mech 2012;50(2):785-96.
[7] Photograph supplied by Michael Nemeth, NASA Langley Research Center, Hampton, Virginia.
[8] Kanodia VL, Gallagher RH, Mang HA. Instability analysis of torispherical pressure vessel heads with triangular thin-shell finite elements. Trans Am Soc Mech Eng, J Pressure Vessel Technol 1977;99:64-74.
[9] Mang HA, Jia X. Past, present, and future research in computational stability of civil engineering structures at Vienna University of Technology, Computational Methods for Engineering Science. In: Topping BHV, editor. Computational science, engineering and technology series, vol. 30; 2012. p. 25-46.


[^0]:    * Corresponding author at: Institute for Mechanics of Materials and Structures, Vienna University of Technology, Karlsplatz 13/202, 1040 Vienna, Austria. Tel.: +43 15880120210; fax: +43 15880120299.

    E-mail address: herbert.mang@tuwien.ac.at (H.A. Mang).

